LOXT

PRODUCTS

Multi Positi n Fixed Height — Slimline Wall to Floor 8990

- Max Capacity 130kg -Screens upto 86in - Tilt 0-10 degrees

1. Bolt the adjustable positon brackets to the back of the VESA
mount plate using four M8 bolts.

2. Bolt the legs into place with four M8 bolts. Make
sure that the bolts are in the correct hole for the
angle you require. y

*There are 3 positio s which allow the screen to be
mounted with 0 or 5 or 10 degrees til.

3. Screw an adjustable foot into the botom of each leg. If using extension legs

please see step 3a.

3a. Secure the extensions in place using a M10 bolt, then thread in
the adjustable foot and push the cover into place.

QOOD

(°]
GEDUCATION www.goeducation.co.uk | 020 8795 3882


https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://twitter.com/GoEducationLtd
https://www.linkedin.com/company/goeducationltd

LOXT

PRODUCTS

4. Atach the mounnting ptes using |3
sixteen M5 bolts. ‘

5. Use the drawing shown to fix the top
mount at the correct height, ensure
the mount is within +-5mm of the
dimension given.

The tolerance of +-5mm can be taken
up using the adjustable feet.

the dimensions.

*If using extension legs add 350mm tc 7 L,J 8

onngoﬂnno Sty il

— > C————— ——————— > ——————————»
a a
a a
a °
e ——

d
=T
L

407

QOOD

(°]
GEDUCATION www.goeducation.co.uk | 020 8795 3882


https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://twitter.com/GoEducationLtd
https://www.linkedin.com/company/goeducationltd

LOXT

PRODUCTS

6. A. Bolt the cross members of the easy install kit to the remaining wall mount, then
bolt it to the mount already on the wall.

B. Secure the lower mount to wall using the appropriate fixings.
C. Remove the cross members.

7. Bolt the mount and cover to the wall using

four M8 bolts. Adjust the adjustable
feet until t ey contact the floor.

Optional xtra- Not included as standard
If not using the optionalpower bar conntue to step 8.

A. Thread two M8 bolts part way into the
power bar as shown.

QOOD
G

EDUCATION www.goeducation.co.uk | 020 8795 3882


https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://www.linkedin.com/company/goeducationltd
https://twitter.com/GoEducationLtd
https://www.linkedin.com/company/goeducationltd

LOXIT

PRODUCTS

B. Afer aatthing the cables to the power bar, lower the power bar down
behind the screen mount.

Fl—
°-r"=1
:[ l
) (

C. Locate the bolts through the holes shown then lower the
power bar into positon and tig ten the bolts.

Q Q Tighten the bolts

igﬂv@\@’@@

Go Educaon Ltd. Educaon House, 1 Liberty Centre, Mount Pleasant, Wembley, Middlesex, HAO 1TX
www.goeducaon.co.uk | sales@goeducaon.co.uk | +44 (0) 20 8795 3882



8. Atach the brackets to the back of the screen.

9. Hook the screen onto the mount rail.

10. Secure the screen in place using the brackets and two

M6*50mm bolts with washers.

Go Educaon Ltd. Educaon House, 1 Liberty Centre, Mount Pleasant, Wembley, Middlesex, HAO 1TX
www.goeducaon.co.uk | sales@goeducaon.co.uk | +44 (0) 20 8795 3882

=N

[

o

o

LOXIT

PRODUCTS



